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| 51 10mS60 S1 S2 S3 sS4 S5 S6 BR | XOH =11
16 =ik 106.0 | 103.8 | 104.7 | 1045 | 102.5 | 105.4 626.9

24 EH = 102.1 | 1044 | 105.7 | 103.7 | 102.6 | 104.2 622.7 1854.5
32 BEH & 989 | 982 | 102.2 | 1025 | 1015 [ 101.6 604.9
| 51 50mP60 P1 P2 P3 P4 P5 P6 BR | XOH =11
29 BE BEX 995 | 965 | 99.2 | 102.0 | 101.1 | 100.3 598.6

36 MR BF | 100.2 [ 101.7 [ 99.1 | 103.1 | 103.6 [ 102.4 610.1 1815.3
15 B2 EA 103.6 | 99.7 | 101.4 | 99.2 | 101.3 [ 101.4 606.6
| 51EE 50m3 X 40 K1 K2 K3 K4 P1 P2 P3 P4 S1 S2 S3 sS4 BR | XOH =¥
15 i &K 95 95 94 96 97 96 93 98 88 87 89 85 1113 | 33

29 Ik BE 94 94 95 99 97 97 92 99 93 96 93 96 1145 | 38 3383
36 HE K3 93 98 94 91 96 94 99 94 92 88 92 94 1125 | 29

BFEXE > 2 fu BEE 70229 g

5 R 10mS60 S1 S2 S3 S4 S5 S6 Ba | XO# &5
19 HL =25 97.7 | 1021 | 101.9 | 100.9 | 102.3 | 100.8 605.7

27 WA |E 102.7 | 99.6 | 103.9 [ 102.6 | 103.6 [ 103.9 616.3 1829.3
35 K _FAN 100.1 | 99.1 | 101.3 [ 103.7 | 101.4 | 101.7 | 607.3

5 B 50mP60 P1 P2 P3 P4 P5 P6 BR | XOH =13
17 WA HRE 101.1 | 98.8 | 101.9 [ 101.5 | 101.2 [ 100.3 604.8

31 RiR HES 1020 [ 102.0 | 985 [ 953 | 98.4 [ 103.1 599.3 1804.6
38 /INEY) EE 102.2 | 100.7 | 1025 | 979 | 977 [ 995 600.5

5 RE 50m3 X 40 K1 K2 K3 K4 P1 P2 P3 P4 S1 S2 S3 S4 BR | Xo# &5

17 Efe e 93 95 92 93 97 99 97 98 88 92 90 89 1123 | 36

31 AR 3wE 92 93 95 96 95 95 96 98 93 94 97 97 1141 37 3389
45 ER FREk 86 95 97 90 97 98 97 98 93 97 90 87 1125 | 38




< RE#HRE > 3 fiu BEE 69179 &

| STEE 10mS60 St S2 S3 S4 S5 S6 BR | XOH =¥-1
18 JNE E 100.8 | 101.9 | 978 | 989 | 952 | 99.7 594.3

26 BH R 101.1 | 102.2 | 102.0 | 98.7 | 101.4 | 100.6 606.0 1807.0
34 BB fE 99.4 | 101.3 | 1005 | 102.2 | 100.9 [ 102.4 606.7

| S 50mP60 P1 P2 P3 P4 P5 P6 BR | XOH =11
16 BEH R 102.6 | 99.8 | 1004 [ 101.4 | 99.0 [ 100.1 603.3

30 BEH EF 986 | 97.7 | 1015 | 1003 | 986 | 99.0 595.7 1791.9
37 WO Tk 100.3 | 99.3 | 96.2 | 1015 | 99.8 [ 958 592.9

| 51EE 50m3 % 40 K1 K2 K3 K4 P1 P2 P3 P4 S1 S2 S3 S4 TR _| XOH =¥
16 BH M 92 91 95 90 95 93 94 94 83 89 90 93 1099 21

30 F1EEd 91 93 96 92 99 97 97 99 92 97 92 94 1139 39 3319
37 o TR 92 92 89 90 93 93 95 96 89 86 84 82 1081 20

< _ HRXFE > 4 £ BEE 69169 B

| 51EE 10mS60_ S1 S2 S3 sS4 S5 S6 BR | XOH =¥
30 Bl & 103.3 | 101.7 | 102.4 | 104.2 | 100.2 | 102.8 614.6

22 5 BRE 1006 | 974 | 986 | 102.1 | 101.1 [ 99.2 599.0 1825.1
14 JVE Fth 101.9 | 102.8 | 99.7 | 100.9 | 102.3 | 103.9 611.5
| 51 50mP60_ P1 P2 P3 P4 P5 P6 BR | XOH =11
34 P 950 | 96.0 | 99.8 | 980 | 979 [ 973 584.0

27 xE Gkt 1025 | 99.8 | 101.0 [ 101.0 [ 102.1 | 100.8 607.2 1783.8
13 5 K& 973 | 96.2 | 100.2 | 1015 [ 984 | 99.0 592.6

5 R 50m3 X 40 K1 K2 K3 K4 P1 P2 P3 P4 S1 S2 S3 S4 Br XD it
13 D *h 96 93 99 90 96 94 94 94 83 86 87 88 1100 | 31

27 HF KE 89 87 96 82 98 95 96 94 93 89 87 91 1097 28 3308
34 | FE G 87 90 93 91 98 98 98 96 93 86 97 84 | 1111 | 28
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BEFEXE > 5 fu #“E&5 68616 =
| STEE 10mS60 St S2 S3 S4 S5 S6 BR | XOH =¥-1
36 FH FR 989 | 943 | 921 93.7 | 952 | 99.7 573.9
20 hilE X 100.4 | 101.0 | 1045 | 101.9 | 102.8 | 101.3 611.9 1796.6
28 NI 35 102.5 | 102.1 | 100.4 | 101.2 | 103.6 [ 101.0 610.8
| S '50mP60 P1 P2 P3 P4 P5 P6 BR | XOH =11
18 5% 100.3 | 988 | 101.9 | 96.2 | 1024 | 98.9 598.5
32 fIE &KX 954 | 955 | 947 | 978 | 93.3 | 100.3 577.0 1786.0
39 NI 35 103.4 | 99.6 | 1035 | 100.1 | 102.7 [ 101.2 610.5
| 51EE 50m3 % 40 K1 K2 K3 K4 P1 P2 P3 P4 S1 S2 S3 S4 BR_| XOH =¥
18 INITIE: 35 94 95 95 96 98 95 97 98 95 92 94 79 1128 | 38
32 5% 88 89 85 73 97 97 97 92 81 90 89 89 1067 33 3279
39 hig K 90 89 94 83 96 91 96 94 86 87 90 88 1084 23
BRRKE >
| 51EE 10mS60 S1 S2 S3 sS4 S5 S6 BR | X0OH =¥
15 EH OEX 100.9 | 102.1 | 100.9 | 101.9 | 101.4 | 99.5 606.7
23 HH #B— 100.6 | 101.8 | 103.1 | 1045 | 102.0 [ 1025 614.5 1825.8
31 BE EEZ 101.0 | 97.1 99.6 [ 100.9 | 102.6 | 103.4 604.6
| 51 50mP60 P1 P2 P3 P4 P5 P6 BR | XOH =11
14 JEim IE 98.7 | 101.9 | 103.4 | 100.2 | 102.3 | 98.0 604.5
28 TS 943 | 97.3 [ 970 | 1005 [ 1005 | 102.3 591.9 DSQ
35 | #)1l EARER DSQ
STEE |  50m3 x40 K1 K2 K3 K4 P1 P2 P3 P4 s1 S2 S3 S4 B | XOH SEt
14 AH #B— 93 94 91 91 94 92 96 96 95 93 96 87 1118 33
28 JEim I 92 94 95 95 97 99 94 97 89 97 92 90 1131 40 3369
35 | #l)l EARER 95 91 90 92 96 94 98 95 95 88 93 93 1120 25




